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DIPLOMA IN VALUE ADDED PRODUCTS 
FROM FRUITS AND VEGETABLES 

(D.V.A.P.F.V.) 
Term-End Examination 

June, 2012 

BPVI-003 : FOOD CHEMISTRY AND 
PHYSIOLOGY 

Time : 2  Hours 	 Maximum Marks : 50 
Note : Attempt any five questions. All the questions carry equal 

marks. 

1. Take the oddman out from the following groups 
of words . 	 lx10=10 
(a) Sodium alginate agar-agar, car-ageenan, 

guar gum 

(b) Xanthan, curdlan, dextran, gelatin 

(c) Metheonin, lysine, Tryptophane, glycine. 

(d) Linoleic acid, linolenic acid, archidonic acid, 
oleic acid. 

(e) Sucrose, lactose, galactose, maltose. 

(f) Arsenic, calcium magnesium phosphorus. 

(g) Carmosine, curcumin, erythrosine, 
tartrazine. 

(h) Tocopherol riboflavin, thiamen nicine. 

(i) Cheese, shrikhand, khaman, kefir 
(j) Pellagara, beriberi, scurvy, goiter. 
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2. Match the word given under column B with 
correct statement given under column A in the 
following. 	 1x10=10 

Columm A 
(a) It is the bitter glycosides of Almond 

(b) It is a sugar alcohol 
(c) It is a phosphoprotein 
(d) This a non essential amino acid 

(e) It is an essential amino acid 

(f) This an essential fatty acid 

(g) Deficiency of this cause scurvy 

(h) It promote the absorption of calcium 

(i) It is an emulsifier 
(j) This is a microbial gum 

Columm B 
Xanthan 
Casein 
Triton X-100 
Sorbitol 
Metheonine 

) linoleic acid 
) Vitamin-D 

iii) Vitamin-C 
) Amygdalin 

Glycine 

3. 	Fill in the blank in the following. 
	 1x10=10 

(a) is a fermented cabbage. 

(b) Wine from pear is known as 	 

(c) is the wine from honey. 

(d) The 	 is a artifically carbonated 
cidar. 

(e) The 	 is prepared from the 
fermentation of molasses. 

(f) 	 is prepared from mash of 
malted grains. 

(g) Must is the 	 of grape or from 
any other plant. 

(h) The 	is the wine flavoured with 
herbs or spices. 

(i) The 	 is palm tree sap . 

(i) 
	The yeast infected with a virus that kills the 

wine yeast is known as 	 
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4. 	Answer the following 	 1x10=10 

(a) Name the process of transfer of pollen grains 
to the stigma 

(b) Name the process of fusion of male and 
female cells. 

(c) Name the vegetable having high respiration 
rate. 

(d) What name is given to sepals of a flower 
collectively ? 

(e) The petals of a flower together are called by 
which name ? 

(f) What is the most commonly used catalyst 
in hydrogenation of an oil ? 

(g) Name the disease caused due to the 
deficiency of iodine in human. 

(h) Name the mineral associated with vitamin 
B-12. 

(i) Name the vitamin which help in the clotting 
of blood. 

(j) Which is the Major protein of milk ? 
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5. 	Write short notes on any five of the following. 2;6=10 

(a) Hydro colloids (Gums ) 

(b) Antioxidants 

(c) Vinegar 

(d) Fermentation 

(e) Climacteric 

(f) Hardness in water 

(g) Role of ethylene in ripening 

	

6. 	(a) How hypoboric storage helps in controlling 21/2 

ethylene ? 

(h) What are the symptoms of chilling injury in 21/2 

lemon and mango ? 

(c) Explain the role of minerals in quality of 21/2 

horticultural produce ? 

(d) What are the major differences between 21/2 

proteins of animals and plants. 

7. 	(a) Define aerobic and anaerobic fermentation 21/2  

giving examples . 

(b) Compare the solid state fermentation and 21/2 

submerged culture fermentation. 

(c) What are the requirements of fermentation ? 21/2 
What is significance of micro-organisms in 

fermentation ? 

(d) Explain how sauer Kraut is prepared ? 	21/2 
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8. 	(a) Explain the role of yeast and other micro 	5 
organisms in wine making . 

(b) Describe pre-fermentation and post 	5 
fermentation practices in wine making. 

BPVI-003 	 5 	 P.T.O. 



tbrif "cra' 	Iteda.  ZKrit 
drLi qi TIT aTTUTITff 	stci 

t741.73:11.7ERA. 

*4:410 TAT 

2012 

-11-0A-.34-003 : ice' 	 icp )  

Fr R7 :2 ?--iQ 	 3-IrsIWTL/ 37W : 50 

1%77: 17f-a 379T EIC.7 aril 1 	rolV 7721? 3R4i foul 3iW - I 

1. 	-14-1FORgcf Ittq--TIly 	fq1;41:1V1ms 	tsiW 	lx10 =10 

(a) t-1 	 31-77- 3-TTTR, chIPI-1-1, 113-1171P4 I 

(b) 4,4c11.-r, 	 11 	 

(c) 42itfa-a, 	 fro-ftcr9 I 

(d) , 
3TIF4, 	inch 	31-1-f-o-w 31-R;r 

(e) 4-471;31, 	13-1---A, 

(f) 34111fiT, 	 91R--1.; 	I 

(g) dlrs.T1-1 I 

(h) zlchiJc,i 	 410:17,9TTFTF I 

(i) A, 51 (sis, 	-kfcR, I 

(j) 4-dITAT, t ,a-, (1, 	 of , 	(iond() 

BPVI-003 	 7 	 P.T.O. 



	

2. 	chIc-1 4 1 7g 4 	TR -qr 	 (4)10 41 	-TR 
=10 

crocii413.  

(a) Tm-  .114144 1 chsar ol*ct) 	 (i) 

(b) Ti77*-{179 t 	 (ii) t-tff 

(c) t I 	 (iii) Ll*e. -f i INk.{ - 100 

(d) 1:717 31-F-9-4r4 -crrrrt 31-rf ti 	(iv) 	afdlrf 

(e) 3th-grzf -crfiTt 	1 	 (v) -A-P-Frrr97 

(f) TIT 31f9-414 cttir 	ti 	 (vi) 	['Oct) 3-Tlf 

(g) 7Tr*-1-  *4114 - zb-q1 -11,-Ict) trrt 	dr t 	(vii) Fa 	eTH-r-z4 

(h) TIT 4)1rN14 	3Tqtrtirui 	et)Of t I 	(viii) Ple.1111-f 

(i) TIT Lim-ncnRcb ti 
	 (ix) 	 

(j) 74-61:0-Trttzl TF-T t 
	

(x) 	(-14 

	

3. 	ftqf P-TIt 	 f4 -1-1-77 I 	 1x10=10 

(a) 	  chquad *T4141 t 

(b) coil Trio 	t 

(c) 	 , -7ffq 	Trku t 

(d) 	tf--A-14 .wr4• 	 t 

(e) 	,NitfTirqffA -q-9-911- 1 

(f) ~ilC Z Akr wTk A-9T1 

	t 

(g) 1:iTa.  (Must) 3-TV 711 3-T7-74 -f--T(1 	t1 

	 t I 

(h) IT-{Tr TitTqf litTE 

t 

BPVI-003 	 8 



(i) 1 - *)I -WE 70- 1 

(j) 11F7T (wine) 74-17Z 	faq-ral 	-F-1:rer 

1-7 ,  	cf, 01(11 t1 

4. fir;Tit-ifTg7 drl( 	 lx10=10 

(a) 7Ri+illuli 	(stigma) 4 3Ic-ikut .A.31f*zfT 

-T-r 7n.  Wig 

(b) wri-.4w4 	 SirWLIT 

-FT Fri 	RA I 

(c) Ti9 fF%R I 

(d) 	 * 	ki.vi -FT A iscif -9-Fr 	Aiir 

Ant? 

(e) 	 T't tgi-F4i 	TiTO -FT fWg 9T=E 

Thlti Tir t? 

(f) Tics-5)74-*--{-uT A7ffw- 

TS-0.  3751-TW 	 ? 

(g) TITEN 4 	ch4-11 	Trr ATI @or %? 

(h) f-17TilT7 7111-  -1214 Ti4N (9F1 dcd 	7-iTR fFfuR 

(i) TNT* k...1;q1 	fffaifq 	714 tlfuR 

(j) -F-tcr 	T31- a-Tff Tm.  t? 
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